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= H (ko—f—llﬁll) H (k0+m/<;1)[2k0+(NR+N5—1)/<;1]
NR =0 m=0
N—Ny—1 Np—1 Ng—2
+ [T ko +150) T (ko + mr)
NR + 1 =0 m=0
(C.29)
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Ngr=0 Nr 1=0 m=0
N—-N4 -1 N—Ny—1 Ng—1 Ng—2
= > T (ko +is1) TT (ko + mri)2ko + (Ng + Ns — 1))
Ng=0 Ng =0 m=0
N—N4—2 Nir—1 Ng—3 2
N—Ny—2
= Z H (ko‘Fllﬁ) H (ko‘me{l)HpkO—f—(NR—FNs—k)f{l]
Ngr=0 Ng 1=0 m=0 k=1
N—N4s—Ng Nr—1 Ng
N — Ny — Ng
= >y [T (ko + is1) [ [12k0 + (N& + Ns — k)ri]
Np=0 Ng 1=0 k=1
Ns+Ng
= [ [2ko + (Nr+ N5 — k)ri]
k=1

(C.30)
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0000000000000 00000 Q(ky,k,ke) ODODOOO

Q% (ko, K1, K2) = AbY b5 (ko + kbl + ko (D5,05)2) + b (ko -+ K1b5bs + ko (b5bs)?)

(C.32)
000000000000000000000000000 Py(Na, Ng, Ns) O
00000 NOODOO
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oo oooo
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